Name Date Period [%

Unit 4A Test Review
1. Write an equation in factored form for the 2. Write an equation in standard form for the
function with the given zeros: x=5,—4,1 function with the given zeros; x =-3,4
£0d) = (x=5) (x+8) (x-) f0od= (ad)x-4)

Fo= XZ-4t3x-12
fFo)= XE-x-12

For the given polynomials, determine which of the binomials listed are factors using the Remainder
Theorem. Show work!

3. f(X)=x*+3x-10 4. f(x)=x° -5x+6
7 . Fe)=efae)-wn @
A x+2 xz2- Y =010 «+2 x=-2, {-‘-(—z—ezizt@-s(-l)l'b
(Bx-2 yoz v S (S I -G 1ovb 20
] f @)= v \ O
@x+5 Xz -5 2a re-to ° /x+9 x*-‘l‘ fen= (_?3 1\25352 =6
C-S) (_S\f:-a( -@-‘0 s + (“‘) é“ﬁ'—z (—4)2..5(-4)%
25—\~ bz +yst+o
- &40
Find how many zeros each polynomial has and list the end behavior for the following:
- Positive
5. f(x)=r16x Positive  euven 6. f(x)=A_x*+8x—13 60 D
a. Number of Zeros: 8 a. Number of Zeros: 5
A\ b. Left End Behavior: lir_n f(x)= ob J b Left End Behavior: }LIEO J(x)=—02
A c. Right End Behavior: 11_210 f(x)= o0 1\c. Right End Behavior: chl_I)E f(x)=00

7. f=-L245  Negahve oD 3 f(x)=-—£f>—]{3x+7 Negetise even

a. Number of Zeros: 3 a. Number qf Zeros: LD
A\b. Left End Behavior: im f(x)= o0 { b Left End Behavior: lim f(x)=— .0
\[ ¢ Right End Behavior: 11_133 f(x)=_ 20 L ¢. Right End Behavior: }cl_f’fnlc f(x)=o
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Find the zeros of the function by factorinusing the q_gggrﬂiiiqrmula.

=
9. f(X)=x"-49 PIF oF gQUALES 10. f(x)=5x*+8x—4 é“:'f:‘)
0= x&ud 6 = Sx*rax-4 -23_’§

O = (X¢17)6e-7) 0= Spiox-2x-4  1°1-2

3 o ! L= SXCXH)-?.(XH)
\X T X o= (Sez) 042)
(s x|

|
11. f(x)=x*+13x+36 Ghort- [t 12. f(x)=x*+~4x-8
0 =x2 0=xt-qx-8
X *‘SK"S(‘ a=| = -y c=-8

CeraY e +d) s

IO N

== Y=~ 20
\_ L e A :ﬁ_‘qs 2%V

”“ﬁ |x=2221

13. f(x)=x"+8x+17 ont fatiov” 14, f(x) 2416 2
= = =1 atvC aA- — =
a=\ b ?UCCB 7 Auadrar & evaula | o Cclb
e EA VIRV <= 0T iy
200 20D B
- 3

z : i
:@_‘i}},;@ Z

15. f(x)=x*—10x+34 =+ fb

asl p=0 (=34 '
100 —3p ‘)(1 G ]

X= 103~ 00 -4 ()34

20V
10 -3¢
2
)(_—_‘._'E_’t_@; \x: 5X31 ’

Z | \
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List the zeros of each polynomial. State the multiplicity of each zero and determine whether the graph

crosses or touches the x-axis at the corresponding x-intercept.
17. f(x)=(x—-2)*(x+6)’(x-10)

16, f()=x*(x=1)(x+8)’

Zero | Multiplicity | Touch/Cross
| | 000, | (oS5
-8 \ 000 | oS

Zero | Multiplicity | Touch/Cross
2 |3» w0 | Ooss

— |3 00 Cre5s
10 | | oo0 cros S

Without using a graphing calculator, sketch the graph each function below. Identify the zeros
multiplicity, and whether the graph touches or crosses the x-axis. Determine the end behavior.

1R f(x)=(x— 4{}/(x+5{3’fx 7@ posi five euexf\
¥ St =
A Zero | Multiplicity | Touch/Cross
4 |5 odd CY08S
<G |Z ewn +ruech
ﬁ\ - \ —[ 1 OM Q,YBSS
N
\ \ ‘
.......... * : 1
HRTE £ Jim 7()=
) o (.-
- H lim f(x) =
N Tx—)oof() o0
Y
Hhve
19. /(x) xf_64x s OM Zero | Multiplicity | Touch/Cross
Xx-0)0Dp o | 1 o4 | €W
2 OM TACLS
-3 ‘ o ¢ ross
‘-\ i
A V4
/ \ |
<« > X lim f(x)=
FANEENE / \l/x_)_wf() 100
IEEEEREERAUE /
VAN 1(x) =
EEEEN !
N lim f(x
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20, gx)=x’

Yy
1
y
< 7] 3> x
-0 s P tn
I
s
*V
21 h(x)=|x+4-2
y
A A
< > x
-10 " 5 i
'V

Domain: (- vy o-D)
Range: C_ 0, ob)
x-intercept(s): (6 ,tD
y-intercept: [01 Q

Increasing: C— O °°)
/
Decreasing: M A

Constant: N A’

Domain: (— =0, obj

Range: EZ‘/ 0@
x-intercept(s);

(-1,0
- 2:6)

_ o)
Increasing: c Y, oo)

Decreasing: (_ vy _._D

Constant: N A.

y-intercept:

Positive: ( o OO)

Negative: ,_
(-0D,0)
Maximums/Minimums: NONE

Symmetry: | DDO
End Behaviqr:

lim f()= — oD

lim f(x)= o0

Positive: (=08, ~o)) (2,0
Negative: (__ © sz)
Maximums/Migimugs: — (_y - 7_)
Symmetry: hONQ

End Behavior:

lim f(x)5 o&
lin /9= 00
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Use the six graphs below to answer questions 6-13 Each problem may have more than one arjswer.

A fx)=x B. f(x)=lx|+2 C.|f(x)=+x
¥ y ¥
1P rrrid 1P r
1 i
5 5
< x < > x < " > x
- = o r y 10 K % y . H
10 ! A 4 }}v =
D. f(x)=¥x E. f(x)=x3+5 F. f(x) =x*
¥ ¥ y
10,4 wdd 1A
X P x < i 3
¥ 1 - = 1 =11 o i
1 *";;v 1blyy

22, Which graph(s) have no zeros? ‘B
23+ Which graph(s) have a domain of (—0,0)? A, B , D, E/ F

24, Which graph(s) have a range of [0, )? e, F
betem ‘o

2.5, Which graph(s) are increasing on part of their domain and decreasing on part of their domain?
®,F
A,C,P,F

Which graph(s) have even symmetry?
Hh B, ¥

“Lp. Which graph(s) have a y-intercept of (0, 0)?

“L§. Which graph(s) have odd symmetry? A —D
/

29, Which graph(s) have neither even nor odd symmetry? C) E
/
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